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913 NAR 2OYTS 291D INWY ARW 37 539 IARY — And 1Y 931 said
that if he transgressed on all the naw n1OX%» v"7 in one lapse of
awareness, etc.

Overview

The X713 asks that there is a contradiction between the ruling of 7717 72 "0°X
which states (in the original reading of his text) that for transgressing the v"%
MOR?1 you are only 21 one NXWA 127p; and the statement of a1 °27 which
states that you are 2> a nXwri 1277 for all the N19X77 (that you transgressed).
MooIN unwritten question is; perhaps *0°X argues with 7171 °27, so there is no
contradiction.

In the previous MooIN ,2"np &7 7"7 NMDOIN maintained that the X773 assumes’
that *0°X will not argue with the mwn in 2173 955, that specifies the number of
MORYM MR, in order to teach us (as 731 °27 states), that you are 2> 11 for each
7OKR?n.  Are we to understand that the contradiction between °0°X and 29
11, which the X723 poses here, is predicated on that assumption?

mooIn will say that there is no need to, because there is a better Lw>.

57 whsh A% PR — It is not necessary to explain that the reason why

there is a valid question, meaning that the contradiction between *0°X and 137 >27,
cannot be explained away by simply saying that *0°X argues with 717 °27, and the reason
why we cannot say this, is —

9P 99K 3995 K9 X»nonT — because we assume that *0°X will not argue on
$'117° °27 interpretation of the 7wn in 9173 992; there is no need to say this, for we have a
better explanation why we cannot say that *0°X argues with 7111 °27

1D PP WS M1 YDOR MaTR K9R — because we can derive this® from the
words of %2R himself

RI°1% %1npTR — since "0 also specifies the number of the M>x%7» Max

®173 B9s2 PR P770 — as the X mx derives later in ®173 ®9> 19, that the
purpose of the mwn specifying” the number of MoX%n is to teach us, that you are 21 on
every 19871, The same applies to "0, since he also specifies the number of nmaxo», by
stating: "NAR 101 " MAKRYA MAR", he must also maintain that you are 211 on each and
every one, so how can he conclude (in his own statement): "nnX X>X 2°°17 1°XY", which
(beside being self contradictory) contradicts the (clear) statement of 7371 °27.

" When we corrected the text of *o°X to read: "R AR 9y 227 R,

* See previous ?"np 71 7"7 "o,

? That he agrees with 73 227

* Which is seemingly unnecessary, since we are able to count them on our own.
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Therefore the X713 concludes that we must change the text of "0°X to read
" NAR Y 270 1K1, that (only) on one, he is not “27n.

Summary
Since *0°X states the number of N1ORY7, it is self evident that he maintains that

you are NXvn 21 on all of them, certainly not just on one.

Thinking it over
1. What is the advantage of nd01n actual YW over NBOIN proposed VWH?

2. Why is it necessary to ask on “0°X from 7171 327, since s"O°X statement
itself is seemingly self contradictory?

3. Did "o°X enumerate all the N1OX%» v in his statement?

> We cannot say that there is still a self contradiction in the statement of *o°X; first he specifies the number
of the N19X%1 N1aR, meaning that you are 21 on every one, and then he says that there is one 79871 for
which you are not 2°11. This however is not a contradiction; because what he is really saying is, that from
all the 39 max%n, on which you are 2>n, there is one 772877, for which you are not 2>n. If the text would
have read however, that ‘you are 211 only on one’ (as the original text read), then the self contradiction is
self evident (and that is what our current N1901n is referring to).

Following this logic, we could then say that even *0°X ,X1p0n? is referring to 2w and nXwn, and he would
not be self contradictory, for he would maintain that you are nXvr 2>°11 only on 38 n138%». This however
would not agree with the previous moo1n where he derived from our X773 that >0 is referring to 72°p0 and
not NXLM; so how did the X713 come to this conclusion that this is the opinion of "0°X?

This is why in the previous mMsoin, we were taught, that the X713 assumes that *0°X will not argue with the
(interpretation of the) 7awn in 9172 993, which states that there are 39 max%1 N1ax, and therefore you are 21
nxun on all of them without exception; so how does *0°% make an exception? Therefore (if we accept this
assumption) we must conclude that "o is referring only to 72°70, but concerning nXun he agrees with the
nawn that he is nXviT 21 on all the MoRY» V"7, See 7"np & 7"7 '01N R"wITA.

In our m»o1n however, when we are discussing the original text of *0°X there is no need for any
assumptions, because we realize that the statement of *o°X is self contradictory.



